Addition Facts — Adding Zero/Counting on by 1

2+1= 10+1 = 1+2=
3+1= 1+3= 9+1=
1+4= 1+11= 2+1=
8§+1= 4+1= 1+8=
1+0= 7+0= 7+1=
5+1= 1+9= 5+0=
1+5= b+ = It 1 =
4+1= 1+1= 0+4=
1+9= 1+3= 2+(0=
8+ 1 1+11= 1+8=
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Addition Facts — Adding Zero/Counting on by 1

ZEl= 14+9= 1=
1+3= T+1= 6+1=
Ztl= 0+1= 2+0=
[+5= 8+1= 0+4=
3+1= 7+0= FH=
1+11= 5+0= 1+1=
1+8= O+1= 0+11=
0+1= 1+0= 4+1=
0+3= 14+9= 1+3=
1+4= T+1= 8+1=
4+1= 1+6= 6+0=
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Addition Facts — Adding Zero/Counting on by |

1+9= 6+0= S+1=
4+1= L= 6+1=
2+1= 7+0= 1+2=
143= 149= 10+1=
0+1= 3+1= 1+4=
1+11= 5+0= 5+1=
L= |+9= b
0+10= 1= 12+0=
1+5= 9+1= 8+1=
7+0= 4+1= T+1=
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Addition Facts — Adding Zero/Counting on by 1

0+11= 1+0= 2+1=
1+9= 1+6= 1+0=
2+0= 1+9= [+3=
T+1= 4+1= 0+1=
1+1= 0+10= 4+1=
0+1= 1+3= 0+3=
1+5= 0+11= 3+1=
7+0= 8+1= 1+4=
0+5= O+1= 12+0=
1= 142 12+1=
0+4= 6+1= [+11=
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2+3=

2+5=

6+2=

3+2=

8+2=

1+2=

2+9=

S+2=

Addition Facts — Counting on by 2
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4+2=

2+]=

542~

7+2=

942~

2+8=

3+2=

2+9=



Addition Facts — Counting on by 2

Gtk = 243=
Tries 2+4=
9+2= 23 B
B+2= 2+8=
T+2= 2+8=
9+2= 2+7=
4+2= 2+1=
(ot 2 = 2 )=
5+2= 2+6=
3+2= 2+ 5=
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Addition Facts — Counting on by 2
Counting on by 1 / Adding Zero

2+8= 3+2= O+1=
10+2= 2+5= 0+2=
4+1= 2+7= 2+2=
11+0= 2+1= T+1=
5+2= L= T+2=
6+0= 1+8= 0+4=
1+2= 5+1= 2+5=
7+1= 3+1 7+2=
3+2= 2+0= 2+5=
7+0= 2+6= 1+1=
0-+4= 2+4= 6+2=
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Addition Facts — Counting on by 2
Counting on by 1 / Adding Zero

6+2= 4+1= 10+2=
2+8= 0+4= 2+2=
2+10= 7+2= 2+4=
143= 5+2= 9+2=
6+0= 2+10= 0+4=
1+8= 9+2= 2+1=
10+2= 12+0= &+1=
1+5= 1+9= 0+10=
2+6= 1+3= 11+0=
242= 0+4= 2+3=
1+2= 5+1= 2+1=
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Addition Facts —
Add Zero, Counting on by 1, by 2

4+1= 0+5= 1+4=
I¥2= o ] = THi=
340= 2+3= 3+1=
1+4= 1+1= 3+2=
2+3= B41= g+ =
4+ 2= g§+2= 140 =
e T 3= 1+ 2=
2+0= 1+4= 0+4=
441= e b 6+2=
0+5= 246= 0+ 0=
2+2= 4+2= 0+1=
1+4= 0+3= 3+2=
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Addition Facts —
Counting on by 1 and 2. Adding Zero

2+3= 4+2= O+1=
2= 4= 5+0=
2+0= 3+H2= 5+2=
1+4= 6+2= {+2=
0+4= 2+7= 1+4=
L= 7+0= I+4=
3+2= 1+1= 0+10=
0+3= 9+2= 1+4=
1+4= 5+2= 3+2=
0+5= 1+3= 0+0=
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Addition Facts — Sums to 10

5+5= 6+4= 8§+2=
7+3= 5+5= 9+ 1=
4+6= 3+7= 2+8=
2+8= 3+7= 5+5=
1+9= §+2= 6+4=
3+7= 169 = §+2=
6+4= 3+7= 1¥3=
§+2= 10+ 0= 2 1=
9+1= 2+8= 4+6=
10+0= 5+5= 3+7=
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Sums to 10

§+2= 3+7= 5+5=
L +3= 4+6= 241§ =
7+3= 9+1= 6+4=
§+2= 7+3= 1+9=
S+5= 4+6= I+ 8=
U5 o T 3+7= 6+4=
10+0= 4+6= o =
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Addition Facts — Zeroes, +1, +2, Sums to 10

3+ 7= 8+1= 749 =
4+6= F43= 1+9=
5+5= 4+2= 5+1=
8+2= 2+2= 0+6=
3+7= 7+1= 1+4=
10+0= 1+5= 2+1=
2+8= 7+2= 2+5=
6+4= 4+2= 242=
1+9= 8+0= 1+6=
0+10= O+1= 8=
9+ 1= 1+3= 6+4
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Addition Facts; Zero, 1, +2, Sums to 10

5+5= 4+6= §+2=
10+0= 7= 3=
4] = 4+6= 6+4=
B+i= 2+8= 3+ 5=
2+@= M= 7+3=
6+4= 5+0= 241 =
T+3= L4 d= 3+2=
1-+9= 8§+2= 7 +8=
4+1= 148 446=
3+2= Dk = T+ 1=
= 0+4= 4+2=
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Addition Facts — Sums to 10
Add Zero, by 1, by 2

1+9= 1+8= 5+5=
O+1= 4+1= O+1=
5+0= 1+1= 2+7=
7+3= 1141= 2+8=
4+2= 2+9= 0+10=
4+6= 8+2= 0+2=
20 4+6= Frpe=
D] = 12+0= 1+8=
2+5= 10+1= 2+9=
3+7= 2+3= 1+1=
2+10= 4+1= 2+6=
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